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QUESTION 1

Which of the following is not an artificial intelligence school?
A. Symbolism

B. StatJstlcaltsm

C. Behaviorism

D. Connectionism

Correct Answer: B

QUESTION 2

Which of the following are the topics of speech processing research?
A. Speech processing

B. Voiceprint recognition

C. Speech Recognition

D. Wake up

Correct Answer: BCD

QUESTION 3

Facing industry research and full scenarios Al The huge gap between applications, MindSpore Bridging the application
gap to help inclusiveness Al Of technological innovation does not include which of the following?

A. New ways of collaboration
B. New programming language
C. New programming paradigm
D. New execution mode

Correct Answer: B

QUESTION 4
GBDT Compared with the random forest algorithm, which of the following statements is wrong?

A. GBDT Algorithm is easier to underfit than random forest
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B. Random forest is calculated in parallel, while GBDT Can\\'t
C. GBDT Algorithm is easier to overfit than random forest
D. GBDT And random forest are built on CART Based on the tree

Correct Answer: C

QUESTION 5

Which of the following is not a module in the Tensorflow library?
A. tf.nn

B. tf. layers

C. tf boost

D. tf.contrib

Correct Answer: C
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